EERE £ {109# & Rk
3R AR (3423174100 TS £ 4,922
AL kol
IEI%EEJ IjL_;‘»F [EVRS E gn'w iiﬁ o 1. I’#.jj_‘L—'sz'E{—%rE» @ ﬁﬂFﬁﬁﬁ_‘i{LFr&/ %ﬁ{ Ill:-j("f}
2. BEE i AR G S I L e e |
250~ it PR ETO

3.*%{4&[“[? ’ ﬂﬁﬁﬁ%ﬁigﬁﬁﬁ  AEERSRA =

}»VEJ/FE“,'@‘%& Fl] fﬁg*ﬂ’ ?ZII‘EI s JL[_‘@E»WTEJE]E%

| I

SB[ IRE BB (0 BRI TR
i -
mAPHRE T RER &9 KpRE = w o
01 * PIac 4,366 | fu b BT | A A 04,366 7 Y
1000 5y 4,366 | T PFIF /UL
£ S EYESED 6407 0 [TIERELG A
1015 BGHI " Fa 2,640 LB~ 2,640 7 (EBEY6 ¢
1020 50 * £ s 419 Firif S
Rk T R 2 FIBIR N (R4 o R S 1
1030 ;ﬂ,fj:% 352 [
1035 11 poierse 43 3IREILTR 0 RS WAL (S
1040 )i 74 368 W
4.8 PISEEA3T R AR D -
1050 L f 43 4 253 P B ,
5IFEHIZHY368-T 1 o (U [P T R
1055 I‘B\[BEB 291 i@{,p?ﬂ:—jalb o
6.3t EERFEE 2537 7 l';«F:TEJ?% EERER
AT - EERES
7. h@291-" 7 > 7 Iﬁfa F [k st
s A
02 FLA /705 (g 404 P b BT kBRI R ARI404T A > B Pj'ﬁ’i/[”
2000 57 398 |7 LFFFII3987 7 > B -
S INGEHYR T R, TEL T SR IR
2003 i 3 (DFFFR AT - (FET 2R i
P&ﬁﬂ‘? 'V'*‘FE‘QZ [/-hja"
2009 7Y 8 R
(2)3p]%8 7m » [EfEY F%ﬁf[bﬁﬁ%&zﬂj?‘g
2030 4TIl 42 I
2051 Py 198 (3)FTIALA2T T AU D BRETRETR
2054 — ' 91 YA
HPrEL198F 7 > EUEE :
2063 1 TR 41 (OFplO8 T > i
<1>«“’»’§ﬁaﬂﬁ§*’<~*aw5fm :
2066 fluify Bk = A 6 Q> HBE F”r%:ﬂ/ =S
2069 G4 1 L 2 4 49T F o
2072 [ 5 ISIRFIEBER |5 R4 R -
4000 iz 6 ()~ ARAVIEOTT 72 > W
5 <I>YRGAEIs12-T R o EFET 6 3|

4085 L i

~ 5D 0007 3] -




EF Pt 1 R109E & Hoz o frd i~
1 B AR SR (3423174100 FTH TEEH 4,922
mAGRE R gEFD &4 KPRE =9 o
<> FARIG Y0 A
B>fiT I@wﬁ;mr 4T A (R
1% & F 53 5007 7] -
<A>RUFLH B L SIS T
(6) 55 HEF R4 -
() BE S 6T 7 o T
SR HIBEN S 0 B B 1,048
R -
(8) =% MG T2 b4 - [RBES W
P R -
(DB DS frgfl - 4B B e
b= J%Eﬁﬂ%ﬁi el
2 ARG o AR~ B AR
& HE ~ 556,0007 5] ¢
05 BRI~ PR 7 152 |1 b BT ¢%§f,¢ EIF A5 7 HP R
2000 ¥ 555" 152 [FIHEIE *
2036 1AL 4 1.}1‘7’;'}3{(#%?%@“5 4f7w ’ rﬁ‘:‘é%ﬁ‘?ﬁu%ﬁ'lﬂiﬁi%
o b e e NG
2054 — s 136 D 136 Wﬁl :
2072 [ i 12 (P PV = 4k - Apae14T 7%

Q)P Fr i B T 7
) FRFR  F RO Y120T 0

3BT o RSN - SR
VEEAY




G2 F TR ERE
AR T ,
voER ®109E B R R
1iErE LALE 3423174100
EER 7 kA ¢ #
BB LA
fi = 4,922 4,922
1000 * Hiif 4,366 4,366
1015 ¥ il * FYR{E 2,640 2,640
1020 5478 * 153 419 419
10304542 352 352
1035 # P 43 43
1040 =il 7= 368 368
1050 32 BB (S 253 253
1055 & 291 291
2000 % 3557 550 550
2003 FF S 3 3
2009 piF+q 8 8
2030 4 42 42
2036 H |1 [ FHP = 4 4
2051 ¥4 198 198
2054 — Y 227 227
2003 B 5 I SE R Y 41 41
2066 FIfF ~ BET B8 5 F 6 6
2069 g4 1 B i) e 4 4
2072 B[ [HE 17 17
4000 5k 2 1" 6 6
4085 8 T 6 6




dELR 09;5; H oo g B4R
« % # ol & i # p
- SRR -
S LT -
B TR 2,640
P FIBBTR S EYE 419
SORE i SRt 2! .
+ o 2gE 352
o H Pﬁq’ﬁ?‘ 43
r 368 | FH] TAYT6 7 -
Ju A EBAG -
1 A EERREE 253
A= il 291
1= - e :
£ * 4,366




$2 ¥R
BERE
¢ EAR
t d A i ( s
= B oz * R ] 1 % H 1 S
. & s <
| TooE W | Kan|van | ~an |1anr [han| an|han anlherll &alhe gl & a|hea|r &4
0023000000
12 Bﬁiﬁfﬁﬂéﬁ’f
0023170000
5| | A 6| 6
3423174100
L 6| 6




Sl

P o A
109# & B arh RS A
L ) R 8 %
o 9 e | mUER & e P

S IEY P TES TSI SIS Sy

- - - 6 6 3,998 2,576 1,422

- - - - 6 6 3,998 2,576 1,422% # % SHETEEES & o S BE Y Ifil =




